Step by Step Sanskrit Learning Programme — Level 1, Month 14, Lesson 55- 58B

Lesson 55 . Continuing with the Shatr 21d.

Present Continuous Participles.

A quick note:
| have to apologise for my long silence. One and a half years of not giving
you something new to study is criminal on my part. But my excuse is valid.

We have finally finished designing our 3, 6-month courses - TEAT, AT

and YU and now am absolutely free to work on our web lessons.

Thankfully my web-students have been writing to me asking for help with
their lessons and being in touch with them continuously helps me not to
feel guilty!

The simple present tense, say for example the verb 31, describes both
the present tense and the continuous in a simple sentence.
So %: T3 means both

The boy goes, and The boy is going.

So what would you do if two actions are placed together, say in a sentence
like -

The boy who is going is eating a fruit ?

You could say TSH: T3Id FHH WG 9 or say T: TSh: To3(d 9: FSH.

o

Higld

But there is a far classier way of saying it- we use the the Active Present
Continuous Participle.

T3 d15%: T @efd

So what are these continuous participles?
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They are words formed out of ¥lq s. Retaining their ability to convey an
action taking place, they become adjectives and follow the noun in three
ways: l%‘»ﬁ, Rk and a4 |

Let me give you simple examples and then I'll teach you how to form these
words.

The boy studies.

The boy eats a mango.

The studying boy eats a mango.

The "studying" is the continuous participle. If the root word is QTF?ICIQ'H, you
add the 3 Y99 and create a 2AJ form. If the root word is al'lFlﬁqaﬁ you
add the M€= Y9 and create a €A form.

Let's concentrate on the 2 forms first.

Step 1. ( M/ N forms)
Pick the &< SR YIH J&Y form of the P.P. dhaatu you have chosen.

Let's take 9% as an example. G&fwd is the B SHR Y=H J&Y Tga= form.

Step 2. (M/ N forms)
NOW... remove the g from the end and the d.from the middle of the word

q&fed — 5 — .= 95d

Step 3. (M/ N forms)
THEN add a ¢ to the last letter to form dNI«d M/N forms that are

declined as W dd M and as ST N. (Please check Supplement 36. Month
10)

qéd+ ¢ =98d M/ N

There is a small difference here. The ST fap*k Tha=H form of WEd_ is
WA, Don't add the 3TN to the word. The usable form becomes 9&

and not 9&T4_ |
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So now we have a sentence that says dlx%: 9&<_ | This is not a complete

sentence because the word Y&+ is not accepted as a verb but as a

participle....a verb cum adjective. To complete the picture you have to add
Step 4.

Step 4.

Add the appropriate form of the 319 dhaatu in the tense that you wish to
convey. That is : Add the 3TH &g &% to give you an effect of a continuous
action taking place in the past.

TSH: TS M |

Add the 3TH &< &% to give you an effect of a continuous action taking
place in the present. dlchh: qad TR |

Ditto for the future. dlc5h: Wﬂﬁl@ﬁl |

( Note: Classical Sanskrit prefers to use the ACTUAL verb forms here
qSH: TI5d, AT TSI, ThE: TGN | And would use the continuous

participle purely as adjectives. So that would mean that another action
would be required here to complete the picture...

U Sichh: @l | The studying/reading boy is eating.
& qSH: A @Ed | The studying/reading boy is eating a mango.

Step 5.
Use all the vibhaktis now....

95 ddh: @eid |
T2 S IS IR |
T2 9SdT IIFhd T8 QISR I=BMH | and so on and so forth.

To form Feminine words:
Step 1.
Same asin M and N
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Step 2.
1. DO NOT remove the d from the middle of the word (from 1, 4, 6, 10

dhaatus. If the dhaatus are from the other 30T s, THEN alone does
one remove the 4. from the middle of the word. .... Easy Way, if
there is an 31 @R before the fd ¥4 (¥.9. Q. 4.), then d_ stays,

otherwise, the 9 does not. This holds true in most cases and can be
used as an 'emergency technique.’)

2. Convert the g into an é

& fed" (after having looked at ST )- %] +'§$ = U&=l F that is declined as FEQI
| (1P.P.)

E@cl'-\-_d (after having looked at ®Ufd ) - - § + 3= ?;?ﬁ F that is declined as
Tt | (8P.P)

Step 3.

Add the appropriate form of the 31d dhaatu in the tense that you wish to
convey .... (Please re- read Step 4 ...M and N forms)

%k %k %

Now let's look at a few examples:
1. §: 9& 3R | He is reading.

. @: 9 STEId | He was reading.
. @1 9S SRA | She is reading.

2
3
4, A1 9& 311@?1 | She was reading.

5. O it 9ad 21k | My friend is reading.
6. GEI%@HGT%J Il am writing. M

7. <& fo@=t SR | am writing. F

8. o 91/ 9ol ST | You are reading.
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This is the simplest form of a sentence that you can create with these
forms. Now let's look at how they are actually used. (Step four and five
have already highlighted this.)

These words are participles. Participles= Adjectives. They MUST MUST
MUST match the noun/pronoun in three ways: ]%'E?f TR and =4 |

(No, I'm not senile. | know I'm repeating myself but I'll do so till you never
ever forget those instructions. So you better be patient with me... | can be
as stubborn as a mule in some matters. Look out for similar repetitions in
the next few lessons.)

Since | can form the entire ¥l table with these words, how will | use the

rest of the fe¥k s? Place Supplement 39 before you while you study the

rest of the lesson.
Watch carefully now:

1. T3 9% &S @Ed | The going boy is eating a fruit.
2. el aTichhl Fb @Tﬂﬁ-l | The going girl is eating a fruit.
3. The talking girl is watching the eating boy. &=l STk Wa Tk
9 |
4. The girl who is g oing with the boy who is going. is also eating a fruit
(Yipes!) T3l Sichehe T8 o3l STiohehT I Fch @Efd |
5. Give the studying boy milk. 9&d TSHME 574 T3 |

And | could have gone on giving you examples but it is time now that you
do the work and | rest.

Do have a look at Supplement 39. to give you the Present Continuous forms
of the dhaatu ¥.. And to form the 99 forms, check Supplement 36. the

feminine forms go like T-I'q:] so that should not cause a problem.

% %k %
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Lesson 55A. Exercises with the [d 9cd4.

Translate the following sentences.
1. The woman is washing clothes.

The two boys are playing in the field.

The two girls are eating fruits.

The mother who is reading is also listening to songs.

The man who is going is holding his son's hand.

The lions who are growling slowly are watching the deer that are

running towards the lake.

7. The father is telling a story to his daughter who is listening with
attention.

8. Radha was drinking milk when her friend was entering her house.

9. Mohan, who is walking with Shyam who was talking, is looking at the
scene around them.

10.The girls who are studying will be successful in the examination.

ouswWwN
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Lesson 55 B. Answers to Lesson 55 A.

1. The woman is washing clothes.
A TR GeArSaTd |
HiEeT Tl FeTSdwl SR |
2. The two boys are playing in the field.
A5H! & Fied: |

N\ NN _ 0 ha\Y
dlh[ & hiedl & |

3. The two girls are eating fruits.
M5k RS @red: |

s BT @igedt &: |

4. The mother who is reading is also listening to songs .
Q&+l ST ITfaTi AT 07T |
Q& ST I ST STt 3T |
5. The man who is going is holding his son's hand.
TToa 6Y: I &6 od |
el 6N T B O i |
6. The lions who are growling slowly are watching the deer who are
running towards the lake.

T Tt (T dert afd aeEa: T T2aia |
T: Tete: (FET: Tl i arad: JIT T2gwd: |fed |
7. The father is telling a story to his daughter who is listening with
attention.

o T S1ve=d 353 HAt KA |
o ST SIUaed I3 Yt FEE TR |

8. Radha was drinking milk when her friend was entering her house.

www.chitrapurmath.net © Shri Chitrapur Math 2002-2017 Page 1350



Step by Step Sanskrit Learning Programme — Level 1, Month 14, Lesson 55- 58B

e g} ferectl ST, ded e S ael: I8 TR |
T g9l Tl T dod e @l e T ferreait =i |

9. Mohan, who is walking with Shyam who is talking, is looking at the
scene around them.

AT TAHA T T+ HigA: di 3Thid: 739 9241 |
AT T TE TS Higd: df 3ThTd: 738 9294 31 |

10.The girls who are studying will be successful in the examination.
G+ AfesHT: GRETETH IO Higsafed |
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Lesson 56. A.P. Continues with the Shaanach- 9

A.P. dhaatus need the M€ Y99 to indicate the continuous tense. You
have to add the HI to the A.P. root dhaatu..... which will be declined like

{H, HIAT and 94 for the M, F and N respectively. Then the 3H dhaatu in the
appropriate tense is added to the sentence if required. Let's take the
dhaatu I (to beg) as an example.

He is begging. @: I/ EH: TR / G: Irad |

She is begging. |1 AFTATT AR / &1 I |

It is begging. dd ATHTH, TR / dd ar=d |

He was begging. €: J<HTA: I/ 9: e/mEd |

She was begging. | A=A ATEId /€T M= |

It was begging. aam?mmaqﬁa/ dd 3T™MHd |

| see the man who is begging. 1€ JFHTH &Y TZ41H |

| see the woman who is begging. 318 JT=HTI RS I= Y |

The kind man gives the boy who is begging, a fruit. AT TeH: ATHHTAI

IEHFE T T=3(d |

The man who is begging goes with the woman who is begging, to the river.
T J6Y: JFEHTAT Hiesdl §E Ag) Tsaid |

You will probably just have to go through our previous lessons just to revise
which dhaatus are the P.P. and which the A.P. ones.

Shall we work on a few translations? Over to Lesson 56 A.
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Lesson 56 A. Working with the 29 Y |

Note : Be sure to add the HIH / HIAT to the conjugated form of the verb
after you have removed the cll

Translate:
1. He is feeling/becoming happy. Hg (Higd)

2. You were present yesterday for the president's speech. 1%!@ (I%FJ'SI)

3. The man performing the yajna is my father. I ( Wﬁ)

4. Vikramaditya is the king's name who is waging a war. I ( ﬁ‘fi’T?l)

5. Do not be angry with the two girls who are serving. @lﬂ( @T?l)

6. The child ( 319 N) went to the temple with the women who were
praying. 9w ( Ela_?l)

7. | see the children who are happy. Hg ( Iﬁaﬁ)

8. The princess accepted the flowers from the priest who was

worshipping. ¥ (¥sid)
9. I have faith in the people who are tolerant. €g ( T&d)

10.The police are beating the thieving men with a stick. I ( %ﬁ'{'Q'?l)
( Trip up alert.)
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Lesson 56 B. Answers to Lesson 56 A.

1. Heis feeling/becoming happy. Hg (Hﬁﬁ)
q: died |
gq: H}IQTI'IT-I: St

2. You were present yesterday for the president's speech. 1%!@ ( ﬁﬁﬂﬁ)
& T AN & ST |
: AT N & fae: / o ot |

3. The man performing the yajna is my father. I<1_( W’Sl)
ISTH: JE: HH fUar 1R |

4. Vikramaditya is the king's name who is waging a war. 9 ( ?{{‘JTSI)
FAH Jq A [oRATIG: 3T |

5. Do not be angry with the two girls who are serving. @ﬂ( @Hﬁ)
AR SMfoswRnat |1 o |

6. The child went to the temple with the women who were praying. 9<_
( &)
I TEHEN: ARSTN: g Afeq 3WTo3d |

7. | see the children who are happy. g ( 1ZﬁTQI)
3TE FIGHTII AT TZITH |

8. The princess accepted the flowers from the priest who was
worshipping. 9w (aa‘él)
TSGR AT, G, IO ST |

9. I have faith in the people who are tolerant. €8 ( &d)
TEHY Y 7H forsare: o1 |

10.The police are beating the thieving men with a stick. I ( %ﬁl’q_?l)
TR FEHT, JEN gUed dredi~d |
TR AT, JEN qed dred—: 9+ |
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Lesson 57/ 57 A. More of Shatr and Shaanach- 21d — (€4

A quick recap:
Having given you an idea on how the [ — 29 work, | must tell you
something. Classical authors DO NOT use the 2Uqd — 2M€dwith the 319

dhaatu. As far as they are concerned, the 21q — 20" are adjectives and

must be used as such. The boy is going' is translated as & TS3Md. The
need to do a THh: T3 AR is to help co-relate this with English

grammar.
Let's look at how the ?Aq - M are used "classically.'
qSh: T30 |
=g AT e @afd |
32 oSl ATk TRATH |

TS5l S TE, TMSH A TS |
T=3d TIoHE 3 ggrd |

o5 dAiohid I & |

TTE3d: T &6dld ®e Jdid |
T3 ATk AH faamd: ST |

T WeTd |

VST Jicheh: S HUTd |

ASHT (e T A |

T ST TE STeH, 3T A U |
TS TSR &S g |

AT TThehTd, STt 3 |
VSTHTE Jie A RBE: 1R |

% 3k 3k 3k %k %k %k %k %
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57 A

You have been with me for quite sometime now. | must stop 'spoon-
feeding' you. I'll provide you with answers only if | think you'll need that
kind of assurance.

As worksheets, convert the above given sentences into their dual and plural

forms. AND THEN convert all the above sentences into the neuter ( 319
child.) and the feminine ( STic5aT girl)... yup, singular, dual and plural.

Use TTS3Ted / ASTHTET (F&HT fRI1E) for the feminine and TTo3d,/ WSTHTH (IS99
T%DT'I%E) for the neuter.

You will need only the complete fenIfs table for the neuter... ST,

Check out our supplements in Month 14.
Next week's lesson is a complete mind bender. I'm looking forward to
teaching it.

%k 3k %k 3k %k %k %k %k k
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Lesson 58. Shatr and Shaanach, their passive forms.

| hope you have had a chance to do those exercises that | set you in Lesson
57,57A. It should give you sufficient practice to handle today's lesson.
Do you remember how the passive forms of a verb are formed? Let's do a

quick revision. (For such practice sessions | shall always take the 9JHI&Y-

Thd9H A€ »hI as an example. That is what has been practiced from time

immemorial. Use that form as a guide line to arrive at the other &% s.)

Take the root form of the verb. For example: 7TH / &4
Add toita Y"; that would make it 7TH / &

Add the THAYE - 594 and you finally land up with TG /R |
These are passive forms of the verb. They change only according to
the 9%9: and 9<9H of the "object turned subject."

rw oo

Well, exactly the same thing happens when you make a passive form of the
2Aq - MM Let's do it again point wise. The difference is in point 4.

. Take the root form of the verb. For example: 3TH / &4
. Add to it a ¥ ; that would make it 7T/

1
2
3. Add the STIHHYE - 5™ and you finally land up with TFHM /STHE
4. These are participles and follow the noun/pronoun in three ways:
I%'E%"\W, IR | Therefore you will have: TFIHTH, THIHTE:, THRIHTT

and all the other forms in all the fa¥f<h s.

5. Study the examples that follow and then you will understand what
the words mean:

dlgd didh: = the boy who is eating

WIIHTA: dlhh: = the boy who is being eaten ( by something)
Similarly @ will be talking about the "boy who is writing." and the
fosETaE will qualify "whatever the boy is writing."
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5 ATSh: (ST UIGH SNSHAT: IR TTAT |
The boy who is writing, places the lesson which is being written (by
him or by whomever) on the table.
Trust this example will iron out all the wrinkles that have dared to come on
your forehead.
Back to further explanations:
Verbs that you create with |A. are used in the HHTIOT TR T |

N N . .
dlhhd U« G&Id | ( Please refer to our lessons on the passive construction

in case you have forgotten how I've arrived at this.)
Words that we create with |B_| are purely adjectives.

Remember:

(It doesn't matter if you think I'm repeating myself. I'll repeat myself till I'm
hoarse....)

ALL PARTICIPLES ARE ADJECTIVES and follow the noun/pronoun in three

ways: 1%5‘1", ddH, e |

Now let's look at how the M words are used:
The boy is eating a fruit.

TSH: TS WM |

The fruit is in the boy's hand.

T SR T AR |

The fruit which is being eaten (by the boy) falls from the boy's hand.
(ASHehe) TAHT i A(SH aedld Jdid |

Do you see how I've used the passive form but in a FAR - AT - TIAT?

Let's look at another example: (Look out for how I've changed the participle
in the different tenses and moods. Also pay attention to the fact that those

words marked bold are the object forms and therefore are in the T

feeh: |Let go of the idea at this point in time that the passive voice insists

that the object must be picked from the 9&HT faIfh: | When Passive

Participles are used in Active constructions, they are purely adjectives and
must be chosen from the f@¥k: that the sentence demands.)

The poem which is being read by me is on the table. (use of passive Iq)
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T GSIHIT BT STSHET:FIR €99g |

Please place this poem which is being read by me on the table.

FUAT T GSTHAT HiTaA ITSHTAT: ITR TIT] |

The food which has been made is tasty. (use of passive ™ )

Tt HITH GG TR |

Please accept the tasty food which has been made by me. (use of passive
Thd )

HAT Tt &R, Aot HIAT RARU |

The modak which should be eaten by her is still on the plate. (use of passive

/T I )

T @R / Wiieded: / @e: High: ITAT Y TSR IIR IR |

Give that modak which should be eaten to the boy waiting outside the
house.

d WeHE Higs IETd df: [d9d aisd a1 |

What is most important is to set your mind free..... spend a little time with
these words and you will see how very flexible they are. Don't feel so
bound to grammar rules that you are unable to bring creativity into your
thoughts.

Let's try out a few worksheets to help break free!
sk 3k 3k sk 3k sk sk sk sk sk sk sk sk k
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Lesson 58 A. Exercises with the Passive and Active
Participles.

A) Translate:
Please do not try word for word translations. Try get the general meaning
of the sentences though.
1. The Guru who is being served is Shrimat Sadyojat Shankarashram.
(use plural for respect.)
2. To that Guru worthy of being served, salutations.
3. When you come to my house, bring that book written by
Rabindranath Tagore, with you.
4. Is there some milk to give to this cat which is sitting here?
5. Those memorised shlokas have increased my peace of mind. (not
difficult.....think!!!11)
6. Devi Bhuvaneshwari, these flowers which have been brought by me
must be accepted by you.
7. | place the fruit of the japa done by me at the feet of the Lord.
8. There is the capacity to work in the intelligent boys who are present
here.
9. The monkeys who took Lanka were Rama's devotees.
10.With these lessons that have been studied by me, I'll certainly
become Paninil!!
11.Here is water for those flowers you brought. (translate with...accept
this water...)

www.chitrapurmath.net © Shri Chitrapur Math 2002-2017 Page 1360



Step by Step Sanskrit Learning Programme — Level 1, Month 14, Lesson 55- 58B

Lesson 58 B. Answers to Lesson 58 A

1. The Guru who is being served is Shrimat Sadyojat Shankarashram.
(use plural for respect.)

AT TRE: He-TAd-TEUSHT: i |

2. To that Guru worthy of being served, salutations.
TH: HHHA: T |

3. When you come to my house, bring that book written by
Rabindranath Tagore,with you.
T Wa(d/ WA, 7H IeH 3TNT=3(d, AT UelrgATI-ZRINTT fosRad Jeieh
RERIVACRIRSEACIER N
4. |s there some milk to give to this cat which is sitting here?
T 3T IR IS Sr (ohfrd gvam @i e

5. Those memorised shlokas have increased my peace of mind.

S o

a: FH_‘?I: 2ish: HH AR S |
6.Devi Bhuvaneshwari, these flowers which have been brought by me
must be accepted.
A R, e ST R
7.1 place the fruit of the japa done by me at the feet of the Lord.
3T T e T Fieh G TGl TATTH |

8.There is the capacity to work in the intelligent boys who are present here.
FY A TGy TG TSHY AR
9.The monkeys who took Lanka were Rama's devotees.

S TR FIG: THE WH: |

10.With these lessons that have been studied by me, I'll certainly become

Panini himself !!

Td: G&d: Ti6: 238 3 quivtte: e |

11.Here is water for those flowers you brought.
TGl / Wadl (R:) STHICE: J9RT: g Sied |
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